oh& I%el4 0% aABC ] Sl4oltt. /A = 50°Y 1, /BOC
o 2715 FahH?

® 110° @100° @ 105° @ 95° G 115°

/BOC =2 x /BACO|B& 50°x 2 =100°
- «.BOC =100°




A
B D
@AAzéB @ BD =CD

® /ADB = /ADC

B




thS 183} Zo] AB = AC ¢l A Zto ] E
M2 T BAY B, oA AA I W e
FA9 e ZYZE D, E € 51 BD = 9em \ cl
, CE = 7em & ©, Atch2]& BCED 2] Yol B
9

@ 8lcm? @ 96cm? ® 112cm?
@®)128cm? ® 256cm?2

AABD , ACAE 9] th&}o]

/BAD = /x 2 FH,

L/CAE = 180° — 90° — zx = 90° — /x

/ABD = 180° — 90° — zx = 90° — zx = /CAE

AB =CA

AZp Az ol A Bl T2 @ Zto] ZoW T Aol ¢

olm g
AABD = ACAE (RHA &%)
wbA DA = 7em , AE = 9em ©]t).

2

Atthe]E BCED 9] Hol= OFDxO+7 _ 128(cm?)




4.

O I90lM A 0 = 2442 ABC 9 94 o, x o gh27?

@ 2cm @ 3cm 3®)4cm @ 5cm ® 6cm

B

A Z4tzbe o] W o] £ A 0 & 40]EZ OB = OA =
OC o|t}.

(AOB = 120° ]2 & /AOC = 60°("~ 180° — ZAOB)
OA = 0C, /AOC = 60°

5. LAOC = /OCA = /OAC = 60° °]| 22 AAOCE HAZH




thS 104 AABCE AC = BCYl o] 5HAZHE,
o WAlol 1. /IBC = 25°< uf, /x 9] Zh& F-5tojzt,

A

oo
Q

L sx=(180°—25°x4) =2 =40°




AABC oflM H T WAolt. ZF A 7F62° 4w, 2x + 2y o 4427

A
A\

& e

@59° @ 60° ® 61.5° @ 62° ® 62.5°

/BIC = 90° + %AA of A LA = 121°

23 /IBC+/ICB = 180°-121° = 59° 0|1 /ABC+/ACB =
180° — 62° = 118°
whebA] /x + Zy = 118° — 59° = 59°




Ar7F

AZFGABC oA A T = UAo]T AABC = 48cm? ¥ ], AIBC 9
Bol=?

© 8em? @)12cm? ® 14cm?

@ 16 cm? ® 18cm?

B ,

1
AABC = §r(a _|_ b + C)

1
= 5r(11+13+8) — 48
r=3cm

AIBC = % X 3x 8 = 12(cm?)




42117k ABC © 9l o] WA o] 15, el WA Bo] 6 U
o, 1714374 ABC 9] Wols Fatelal,

1] ah3 2 of,
AE=AF=a&3tHAC=0a+6

AB =2BO =30°|22
BD=BF=30-a

-~ BC=BD+DC=(30-a)+6=36-a

. AABC = L (AB + BC + CA) x 6

zéx{30+(36—a)+(a+6)}><6
=216




& 194 AB = BC = CD °|1 E

/CDE = 120° & 1, /CAB 9] 3718 G

otof 2}, 120°
A LLI B D E

» Eh °

> =g 30°

/CBD = /CDB = 60°,
(ABC =180°-60°=120°
~ /CAB = (180°-120°) +2=30°




10. the 77 9] AABCO|A AB = AC. /BAD = /CAD 2 1, CD 9|
Zole}t /ADC 9] 47|15 Fotelet,

A

>
>
[>HE: CD=7 cm
>

FE ZADC=90 °




11, th 293 2ol 2ABC 7h Fol7e o, x, y ] gHe?

® x=6,y=50° @ x=7,y=45°
@xz?,y:50° @ x=17,y=65°
® x=8, y=50°

ofl

/ACB = 65° 0|22 AABC = o]SHAZIH o[t}
Lx=7
12831y =180°-65°%x2=150°




12, o= 94 A O 7F aABC 9] QY i, /B ©] 2715 -5tofet

A

iy
o

\VARR 4
02
L

60 °

B *

OB = OC°|2& /OBC = 20°
LOAB + /OBC + /OCA = 90° ]| A
LOAB = 90° - (20° + 30°) = 40°
OA = OBo|E2 /OBA = 40°

5 /B =140°4+20°=60°




13. o2& T"”elA A 171 aABC Y WA Y o zx = (

( ) gFell &0 g2 & oozt
A
32
I 35°
B C
23

>
> e 32

e oleh,

A7) Al WZo] o] 58410 mAo] 47
2hA /BAI = /CAI = 32° 0|t}




14. & 283} Zo] AABCO)A AB = AC , BC =
BD =ADY o, /x2] 7|5 F5}ozt.

it
o

>
> =g 36°

B \

AD =BD°|2& /A = /ABD = /x
BD = BC°o|E& /BDC = /C = 2/x
AB = AC9o|B& /ABC = /C = 2/x
/A + /ABC + /C = 180°°|B&
/x4 2/x 4+ 2/x = 180°

wahA] 5/x = 180° , /x = 36°©]T}.




15. TS 1% aABC 2 4 A £ 7202 42° W3 85t A B, C
A2 B, ¢ 0% o) 5@ Aotk oluf, AB'C’ 0] 27]5 Fatelet

>

i

\VARR 4
02
i

69 °

AB = AB’ o|B&2
/ABC = (180°-42°) +2 =69°
. LAB'C' = /ABC =69°




16. & AABC9A AB = AC, CB = CD, /BCF = 114°< o, /x 9]
371=7

A

B

C
E / 114%\F

@1s° @u @3 @3k O a

B ~

AABC || A

/ABC = /BCA = 180° - 114° = 66°
ACDB o] A

/BCD = 180° — (2 x 66°) = 48°
Wt A zx = 66° — 48° = 18°0|t}.




17. o8 93} 2ol 4C = 90°¢ AABCO]| A
A LA 9] o] 5B A1} AB 9] Zlo] 5 E A o] o
BCHe A DA vt o, /MAD ©] 27]

9

D 10° @ 20° @30°
@ 40° ® 50°

B ‘

AACD = AAMD (RHASHS),

AAMD = ABMD (SAS3Hg)o]lB =2

/ADC = /ADM = /BDM

StH /ADC + /ADM + /BDM = 180°°| B2
(ADC = /ADM = /BDM = 60°

wata] L MAD = 30°°]t}.




18. o3 I™-4 AABC £ AB = AC ¢l o] 5H¥4Ztgoltt, A D, E, F
+ ZrZF BC, AC, AB $]9] #¢]i1, CD = BF, BD = CE, /A = 40°
< o, ,/FDE ] 27]& -5Foi=t.

A
/

\VARR 4
0
i

70 °

~&B ~

AB=AC 0|22

1
B=C=3x(180°~40°) = 70°

¥, CD=BF, BD=CE o2&
AFBD = ADCE (SAS %)
otA g7 o=

(BFD = +CDE, /BDF = /CED
(FDE 9] 37]E x & 5}¥

x+ /CDE = 70° + /BFD ©]1
/BFD = /CDE °|2&
~x="70°

. /FDE = 70°




19. oFg 71819 € 0 o4 A AOD £ /D & BAZoR Bt o]
N\ P

HArzZEgolt}, 5.0ptCD : 5.0ptBE = a : b 2t & 0 g+ b = L5}oiat.

(DAO = o 1 5} .
ADAOQ 7} o] 5HAZ o] B & 5.0ptCD of gt S412He] =17]
= @ °]2 /EDO =
ADOE &= o] aHAZIo|BR /AEO = 2

5.0ptBE of tiat £42+e 47+g AOE 9] 9)zto|ng 1 37]

wet So] Zolt 47kl A7) Hestng

74,
5.0ptCD : 5.0ptBE=1:3
Ta+b=4




20. thg 1387} 22 AABCO|A AF : FC=1:3,BE: EC =1: 3,
AD : DE = 1 : 1°|t}, AABC 9] Yo]7} 64em? ¥ ©f], AADF 9]

ol
A
B E C
@ 6cm? @ 8cm? ® 16cm?
@ 32cm? ® 35cm?2

~&B ~

AABE : AACE = 1: 30|82

AACE = ZAABC = Z X 64 = 48(cm?)

CDE 11°9W ACAD : ACED = 1: 10]E=2
ACAD = %AACE = % x 48 = 24(cm?)
I, AADF : ACDF = 1: 30|22

AADF = iACAD = le X 24 = 6(cm?)




